INVOICE

#LPS030118

03/01/18

Worcester School Department
Attn: Kay Seale, Director of Special Educ.

20 Irving St.

Worcester, MA 01609

RE: 1:1 Instructional Aide / 5

1 054556727

16.0	- 11/01/17 - 11/30/17		
	118.75 Actual Hours @ \$18.42/hr = \$2,187.38	50%	\$1,093.69
	Cost Share Worcester / Fitchburg		
	- 12/01/2017 - 12/31/2017		
	118.75 Actual Hours @ \$18.42/hr = \$2,187.38	50%	\$1,093.69
	Cost Share Worcester / Fitchburg		
Benefits -	·		
	Health Insurance - 75% Employer cost November & December	50%	\$1,456.40
	Life Insurance - 75% Employer cost November & December	50%	\$6.75
	Medicare - Employer matched	50%	\$22.54
		TOTAL DUE	\$3,673.06

Africe

INVOICE

#LPS030218

03/02/18

Worcester School Department
Attn: Kay Seale, Director of Special Educ.
20 Irving St.
Worcester, MA 01609

RE: 1:1 Instructional Aide /

1054996727

-	, - 01/01/18 - 01/31/18		
	75 Actual Hours @ \$18.42/hr = \$1,381.51	50%	\$690.75
	Cost Share Worcester / Fitchburg		
	112.5u Actual Hours @ \$18.42/hr = \$2,072.26	50%	\$1,036.13
	Cost Share Worcester / Fitchburg		,
Benefits -			
	Health Insurance - 75% Employer cost January & February	50%	\$1,456.40
	Life Insurance - 75% Employer cost January & February	50%	\$6.75
	Medicare - Employer matched	50%	\$20.45
		TOTAL DUE	\$3,210.47



INVOICE

#LPS051518

05/15/18

Worcester School Department Attn: Kay Seale, Director of Special Educ. 20 Irving St. Worcester, MA 01609

RE: 1:1 Instructional Aide /

1054996727

/ - 03/01/18 - 03/31/18
143.75 Actual Hours @ \$18.42/hr = \$2,647.88
Cost Share Worcester / Fitchburg

50% \$1,323.94

- 04/01/10 - 04/30/10
93.75 Actual Hours @ \$18.42/hr = \$1,726.88
Cost Share Worcester / Fitchburg

50% \$863.44

Benefits -

Health Insurance - 75% Employer cost March & April	50%	\$1,456.40
Life Insurance - 75% Employer cost March & April	50%	\$6.75
Medicare - Employer matched	50%	\$19.31

TOTAL DUE __\$3,669.84



DUE

INVOICE

#LPS063018

06/30/2018

Worcester School Department

Attn: Kay Seale, Director of Special Educ.

20 Irving St.

Worcester, MA 01609

RE: 1:1 Instructional Aide /

1054996727

ľ	- 05/01/18 - 05/31/18			
	125 Actual Hours @ \$18.42/hr = \$2,302.50	4	50%	\$1,151.25
	Cost Share Worcester / Fitchburg			
1	- 06/01/18 - 06/30/18		•	
	156.25 Actual Hours @ \$18.42/hr = \$2,878.13	2	50%	\$1,439.07
	Cost Share Worcester / Fitchburg		70 70	Ψ1,403.07
Donoffic				
Benefits				
	Health Insurance - 75% Employer cost May & June	5	50%	\$1,456.40
	Life Insurance - 75% Employer cost May & June	5	50%	\$6.75
	Medicare - Employer matched	5	0%	\$27.31

TOTAL DUE <u>\$4,080.78</u>



INVOICE

#LPS103117

10/31/17

Worcester School Department Attn: Kay Seale, Director of Special Educ. 20 Irving St. Worcester, MA 01609

RE: 1:1 Instructional Aide /

1054996727

	- 8/30/2017 - 9/30/2017		
	118.25 Actual Hours @ \$18.42/hr = \$2,178.17	50%	\$1,089.08
	Cost Share Worcester / Fitchburg		
1.	, - 10/01/2017 - 10/31/2017		
	126 Actual Hours @ \$18.42/hr = \$2,320.93	50%	\$1,160.47
	Cost Share Worcester / Fitchburg		
Benefits -			
	Health Insurance - 75% Employer cost September & October	50%	\$1,456.40
	Life Insurance - 75% Employer cost September & October	50%	\$6.75
	Medicare - Employer matched	50%	\$11.82
		TOTAL DUE	\$3,724,51



Alue.

Please make check payable to the Town of Leicester and forward to the above address attention Bonnie. Thank you.